Year 5 Homework, Autumn Term Week 5
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4521 + 2232 =
3289 -1222 =

43 x 8 =

Multiply 35.2 by 10.
Round 3442 to the nearest

1000.
6. What is 0.5 as a fraction
and percentage?

Maths: Speedy Six
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32213 + 94432 =

98322 — 42999 =

43 x 34 =

Multiply 664.32 x 100.
Round 544321 to the nearest
10,000.

What is 0.75 as a fraction and
a percentage?
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Keep practising your times tables. This week we will be looking at the 8s. /

Reading Comprehension

Please complete the reading comprehension ‘My Journey into Space’. This is a short and sharp
reading comprehension. The reading part should be completed in 60 seconds and the answers
should take 1 -2 minutes each.
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Spellings
Core Support
telephone blow
telescope blew
television sing
transmit sang
transaction | other
transport | another
transparent | mother
translate before
marvellous | more
excellent | different
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Optional SPAG question (1 housepoint if completed)

Tick the sentence that must end with a question mark.

Tick one.

What | wanted had already sold out
Ask Ryan what he thinks about it
What time will the film start

I didn't know what to say

Homework is due in on 23" October.
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